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The management of a hospital wants to reduce the waiting time in its Accident and Emergency
Unit.

After arriving at the unit, patients have to wait to see a doctor.

One Tuesday, the waiting time for each patient was recorded.

The results are displayed in the following histogram.
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(b) Show that there were 80 patients in total who waited to see a doctor on this Tuesday.

[2]
= (20 %037) + (10 % 2) +(lox2-5) 4 (20X 0-85) +(30x0.1)
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(c) Calculate an estimate of the inter-quartile range of the waiting times recorded.
You must show all your working. [5]
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(d) One Saturday, the waiting time for each patient was recorded.
The inter-quartile range of the waiting times for this Saturday was smaller than the inter-
quartile range for the Tuesday.

The management used this fact to conclude that waiting times were shorter on Saturdays
than on Tuesdays.
Was the management correct to come to this conclusion?

Yes No

Explain your answer. 1]
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2.
every day during the summer.

of its passengers.

The table below shows the frequency densities of the [

different age groups recorded.

A boat company runs trips from Tenby to Caldey Island

Age, x (years) \3\ Frequency density
0<x<20 |20 18

20 < x <35 | IS 24

35<x<50|\S 2

50< x<70 |20 15

70 < x < 100§ 30 0-6

The company wants to provide services suited to its pmssspses o
passengers. On one day, the company recorded the ages
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(a) Calculate an estimate of the percentage of passengers who were aged 60 or more. [9]

(b)  On the graph paper opposite, draw a histogram to show the distribution of the ages of the

passengers.
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